IPCE (New Syllabus)

— Roll N Paper - 8 MAY 2022
R Financial Management _ e O
Total No. of Questions — 11 and Economics for Finapge,, No: of Printed Pages — 34
Time Allowed — 3 Hours g ¢ Maxinum Marks — 100
" 0
g

Answers to questions are to be given only in English except in case of candidates who

have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her
ansvufeljsA in Hlndl .),v_.ill ino{‘t»\b'_e valggc.l.
SECTION - A Marks : 60
Question No. 1 is compulsory.

Candidates are also required to answer any four questions from the remaining

five questions

Working notes should form part of the respective answers.
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Marks

. Following information and ratios are given for W Limited for the year 3

ended 31% March, 2022 :

Equity Share Capital of ¥ 10 each T 10 lakhs
Reserves & Surplus to Shareholders’ Fund 0.50
Sales/ Shareholders’ Fund 1.50
Current Ratio | 2.50
Debtors Turnover Ratio 6.00
Stock Velocity 2 Months
Gross Profit Ratio | - |20%

Net Working Capital Turnover Ratio 2.50

You are required to calculate :
(i) Shareholders’ Fund

(ii) Stock

(iif) Debtofs:"" e
(lv) | Current 11ab111tles

(%) CashBalance
AKN-H
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AKN-H Marks
(b) Balance sheet of X Ltd for the year ended 31st March, 2022 is given 5
below :
(X in lakhs)
Liabilities Amount Assets Amount
Equity Shares ¥10 each 200 | Fixed Assets 500
Retained earnings 200 | Raw materials 150
11% Debentures 300 |W.LP 100
Public deposits (Short-Term) 100 | Finished goods 50
Trade Creditors 80 | Debtors 125
Bills Payable 100 | Cash/Bank 55
980 980
Calculate the amount of maximum permissible bank finance under
three methods as per Tandon Committee lending norms.
The total core current assets are assumed to be ¥ 30 lakhs.
() A company requires 36,000 units of a product per year at cost of ¥ 100 5
per unit. Ordering cost per order is T 250 and the carrying cost is 4.5%
per year of the inventory cost. Normal lead time is 25 days and safety
stock is NIL.
Assume 360 working days in a year.
(i) Calculate the Reorder Inventory Level.
(i) Calculate the Economic Order Quantity (EOQ).
(iii) If the supplier offers 1% quantity discount for purchase in lots
of 9,000 units or more, should the company accept the proposal ?
AKN-H P.T.O.
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AKN-H Marks
(d) P Ltd. is considering a project with the following details : 5
Initial Project Cost ¥ 1,00,000

Annual Cash Inflow (%) 1 2 3 4

30,000 | 40,000 | 50,000 | 60,000

Project Life (Years) 4

Cost of Capital 10%

(i) MEASURE the sensitivity of the project to change in initial
project cost and Annual cash inflows (considering each factor at

a time) such that NPV become zero.

(i) IDENTIFY which of the two factors; the project is most sensitive
to affect the acceptability of the project ?

Year 1 2 3 4 5

PVIFg 10,4 | 0.909 | 0.826 | 0.751 | 0.683 | 0.621

Details of a company for the year ended 31st March, 2022 are given below : 10

Sales T 86 lakhs

Profit Volume(P/V) Ratio 35%

Fixed Cost excluding interest expenses | ¥ 10 lakhs

10% Debt T 55 lakhs

Equity Share Capital of T 10 each T 75 lakhs

Income Tax Rate | 40%
AKN-H
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Required :

(i) Determine company’s Return on Capital Employed (Pre-tax) and
EPS.

(ii) Does the company have a favourable financial leverage? |
(iii) Calculate operating and combined leverages of the company.
(iv) Calculate percentage change in EBIT, if sales increases by 10%.

(v) At what level of sales, the Earning before Tax (EBT) of the

company will be equal to zero ?

Alpha Limited is a manufacturer of computers. It wants to introduce 10
artificial intelligence while making computers. The estimated annual saving

from introduction of the artificial intelligence (AI) is as follows
*  reduction of five employees with annual salaries of ¥ 3,00,000 each

e  reduction of ¥ 3,00,000 in production delays caused by inventory

praoblem
e  reduction in lost sales ¥ 2,50,000 and
®  Gain due to timely billing ¥ 2,00,000

The purchase price of the system for installation of artificial intelligence is
¥ 20,00,000 and installation cost is T 1,00,000. 80% of the purchase price

will be paid in the year of purchase and remaining will be paid in next year.

The estimated life of the system is 5 years and it will be depreciated on a

straight -line basis.

However, the operation of the new system requires two computer specialists

with annual salaries of ¥ 5,00,000 per person.

AKN-H P.T.O.
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In addition to above, annual maintenance and operating cost for five years

are as below :
(Amount in Y)

Year 1 2 3 4 5

Maintenance &
2,00,000 | 1,80,000 | 1,60,000 | 1,40,000 | 1,20,000

Operating Cost

Maintenance and operating cost are payable in advance.

The company’s tax rate is 30% and its required rate of return is 15%.
Year 1 2 3 4 5

PVIF( 10t 0.909 0.826 0.751 0.683 0.621

PVIFg1p¢ | 0893 | 0797 | 0712 | 0636 | 0.567

PVIFgs¢ | 0.870 | 0756 | 0.658 | 0572 | 0497

" Evaluate the project by using Net Present Value and Profitability Index.

The particulars relating to Raj Ltd. for the year ended 31% March, 2022 are 10

given as follows :

Output (units at normal capacity) | 1,00,000
Selling price per unit 340
Variable cost per unit 320
Fixed cost ¥ 10,00,000

The capital structure of the company as on 31st March, 2022 is as follows.:

Particulars Amount in ¥
Equity share capital (1,00,000 shares of ¥ 10 each) 10,00,000
Reserves and surplus 5,00,000
Current liabilities 5,00,000
Total : 20,00,000
AKN-H
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Raj Ltd. has decided to undertake an expansion project to use the market
potential that will involve ¥ 20 lakhs. The company expects an increase in
output by 50%. Fixed cost will be increased by ¥ 5,00,000 and variable cost
per unit will be decreased by 15%. The additional output can be sold at the

existing selling price without any adverse impact on the market.

The following alternative schemes for financing the proposed expansion

program are planned :

(Amount in %)

Aiternative Debt Equity Shares

1 5,00,000 Balance
2 10,00,000 Balance
3 14,00,000 Balance

Current market price per share is ¥ 200.

Slab wise interest rate for fund borrowed is as follows :

Fund limit | Applicable interest rate
up-to ¥ 5,00,000 10%
Over ¥ 5,00,000 and up-to T 10,00,000 15%
over ¥ 10,00,000 20%

Find out which of the above-mentioned alternatives would you recommend
~ for Raj Ltd. with reference to the EPS, assuming a corporate tax rate is 40% 9

AKN-H P.T.O.
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5. A company issues : 10

» 15% convertible debentures of ¥ 100 each at par with a maturity period
of 6 years. On maturity, each debenture will be converted into 2 equity
shares of the company. The risk-free rate of return is 10%, market risk
premium is 18% and beta of the company is 1.25. The company has
paid dividend of ¥ 12.76 per share. Five year ago, it paid dividend of ¥
10 per share. Flotation cost is 5% of issue amount.

e 5% preference shares of ¥100 each at premium of 10%. These shares
are redeemable after 10 years at par. Flotation cost is 6% of issue
amount.

Assuming corporate tax rate is 40%.

(i) Calculate the cost of convertible debentures using the approximation
method.

(ii) Use YTM method to calculate cost of preference shares.

Year 1 2 3 4 5 6 7 8 9 10
PVIF; 03 ¢ 0971 | 0.943 | 0915 | 0.888 | 0.863 | 0.837 | 0.813 [ 0.789 [ 0.766 | 0.744

PVIF,ps, | 0952 | 0907 |0.864 |0.823 | 0.784 | 0.746 | 0.711 | 0.677 | 0.645 | 0.614
PVIFA) 3, | 0971 | 1.913 [2.829 3717 | 4580 | 5417 | 6:230 | 7.020 | 7.786 | 8.530
PVIFAgos, | 0952 | 1.859 |2.723 | 3.546 | 4329 | 5.076 | 5.786 | 6.463 | 7.108 | 7.722

.| Interest rate 1% 2% 3% 4% 5% 6% 7% 8% 9%
FVIF, 5 1.051 | 1.104 | 1.159 | 1217 | 1.276 | 1.338 | 1.403 | 1.469 | 1.539
FVIF; 4 1.062 | 1.126 | 1.194 .| 1.265 | 1340 | 1.419 | 1.501 | 1.587 | 1.677
FVIF, ; 1072 | 1.149 | 1.230 | 1.316 | 1.407 | 1.504 | 1.606 | 1.714 | 1.828

6. (a) Identify the limitations of Internal Rate of Return. 4
(b) Briefly explain the assumptions of Walter’s Model. 4
(c) State advantages of “Wealth Maximization” goals in Financial 2
Management
OR
Distinguish between American Depos1tory Receipts and Global 2
Depository Receipts.
AKN-H
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SECTION-B 40
Question No. 7 is compulsory.
Answer any three questions from the rest.

Working notes should form part of the respective answers.

7. (a) Following information, relating to a particular financial year, are given 3
as under :
T in Crores
Sales 3,500
Intermediate consumption 400
Closing Stock 300
Opening Stock 200
Net indirect tax 600
Mixed income 200
Consumption of fixed capital 400
Compensation of employees 400
Compute :
(1) GVAp
(i) NDPy,
(iii) Operating Surplus
(b) State the features of Foreign Portfolio Investment, 3
() Comment on the role of Governiment intervention for equitable 2
distribution.
(d) Describe the precautionary motive for monéy. 2

AKN-H P.T.O.
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8. (a)
(b)

9. (a)
(b)

10. (a) -

®

(i)

(@

(ii)

@
(i)

(i)

®
(i)

(10)
AKN-H
Differentiate between Non-Discretionary and discretionary Fiscal
policy.
Write a brief note on Countervailing Duties.
Explain the ‘Circular Flow of Income’.

What will be the total money credit created by the commercial
banking system for an -initial deposit of ¥ 500 if the required
reserve ratio is 0.04, 0.06 and 0.10 percent respectively. Compute

credit multiplier.

L]

Explain ‘Global Public goods’ with examples.

What is aggregate Demand Function ?

Calculate the volume of Transaction :
Price = 105

Velocity of money = 4.2

Money supply = 4500 billion

What will be the outcome if volume of transaiction increases
to 240 ?

What do you mean by ‘Bound Tariff” ? Explain.

What are the common objectives of fiscal policy ?

State the nature of the monetary policy for the following actions
taken by the RBI of the country :

(A) Reduction in the cash reserve ratio.

(B) Selling of securities in the open market.

(C) Increase of repo rate by 50 base point.

(D) Increase in the supply of currency and coins.

AKN-H
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(b) O
(i)
(& (@
(i)

(11)
AKN-H

Calculate Multiplier and Marginal Propensity to Consume (MPC)

with the help of following information

2020-21 2021-22
Particulars
(R in Crore) | (X in Crore)
Investment 1600 2000
National Income 5000 6600

Explain ‘Sanitary and Phytosanitary (SPS) Measures’.

The monetary authority of an economy has provided the.

following data :

Particulars T in Crore
Notes in Circulation 2,42,09,645
Rupee Coin in Circulation 325,372
Small Coins in Circulation 7,434
Post Office Savings Bank ~Deposits- 14,173868
Cash in Hand with banks 9,75,635
Deposit Money of the Public 1,77,61,992
Demand Deposited with banks 1,73,76,925
Other Deposits with Reserve Bank 3,85,074
Total Post Office Deposits 1,48,966
Time Deposits with Banks 17,86,969.

You are required to calculate (i) M1; and (i) M2.

Identify the market outcomes for each of the following

situations :

(A) Playing of loud music at night resulting in inability to sleep.

(B) Wearing of mask during covid-19 pandemic.

AKN-H
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Following information, relating to an economy of a country, for

the current year are as under :

Particulars (In Crores )
GDP,p 6550
Gross Investment
(Including  Business fixed investment,
Residential conétruction investment, Public &
Inventory investment) 1000
Government Purchases of goods and services 1500
Exports 400
Imports 350
GNP, p 6600
Indirect Taxes 200
Depreciation ' 200
Find out :

(A)- Private Final Consumption Expenditure
(B) Net Factor Income from Abroad
(C) NNPg or National Income

Explain briefly two key concepts of ‘New Trade Theory’ that

gives advantages to countries that import goods to compete with

the home country.
OR

Explain ‘Embargos’.

AKN-H
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(Hindi Version)

37 et @) Brewt Rt R Tmemm o1 2, W % S hae S A e § |
7 el R i e 7 g 8, AR R A s &, o ous R A Ry
Il 1 ook el € |

WRT-3 Marks : 60
WY e 1 AEr R | |
9 gl vl # @ feredt 9 oAt % S e |
1 Rt (Working Notes) 3T <1 RT B+t <11eT |

Marks

1. (a) 31.3.2022@%@%%6&%1@ w fifies A Fafefga geemd. 5

3P 1T e Foe B

% 10 T <hi THaT 39 4 t10md

FIERT o B o foIg H= 3T e 0.50

farsht / STsTeme! &1 % 1.50

JAE AT 2.50

STERI 1 HRITR I 6.00

Wi HRER 2 TR

el AT JAFATd 20%

T HRIfiet ISt HRIER 31aTd 2.50

AKN-H P.T.O.
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AKN-H
JATYeh! TUHT HT B :
(i) IR FH1 HS
(i) b
(iii) STER
(iv) = e
(v) ThgIw
®) X fafies s frear 31.03 202 Prem TR ad H Rt
R wrE #)
I LR et T
%10 S ST GHAT 0 200 | wmft wmft 500
wfcemia s 200 | st grft 150
11% RoT9= 300 | wrfersfier sref 100
qﬁaﬁmm(ag-aﬁﬁ) 100 |d9R A 50
IR ATER 80 |¥eR 125
< far 100 |de/d® 55
980 980

mm%mm@mmmmqm%mm

i I for Y omT 6% |

FH HR A FE T 30 T 9 Fafd |

AKN-H
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(c) T HWH I TH IS Y 36,000 THEA H 2 100 T HRATER 5
I ATaTEHAT & | SES A Wi RN T 250 B 3R T77 AW
TEferan AT i 4.5% a1feh § | W= 3nwar g9y 25 fom & ok yefdra
G T 7 |
a9 & argATiNa Srsfier feaw 3602 |
(@) 9 e iR T e fifse |
(i) TR 3w AET (EOQ) T 1T HfT |
(iii) IfE fersham 9,000 AT UF AET TH FHT W HI HH | 1% HHAT

R SRATTSIT ST & I 9T SHE ) T Tleh i AT iy 2

(d) P T fafaRaa geamst & @y o T R femw @ R 5
TRIRE TREieHT A ¥ 1,00,000
i T SRR R) | 1 2 3 s
30,000 | 40,000 | 50,000 | 60,000
qiEISHT Sfiem (@) 4
§ft <1 emra 10%
() ORI B GG 1 SRR TR S e A
THE F<aTE (FAF Teoh I gU R wF) § RadT ww
mﬁﬁmﬁmmwmpvwﬁﬁml

AKN-H P.T.O.
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(if) TS R R wREET B ek B wh B % frg, 2t
FRH! A A, B o wleie wwd siftres daeiier 2

o 1 2 3 4 5

PVIF( 10| 0.909 | 0.826 | 0.751 | 0.683 | 0.621

2. Th St Y 31 HIE, 2022 B HHIE BN A 9 & e e g @ 10

fesh % 86 OITE
™ W (P/V) 31JATA 35%
T AT TS 97 Bl Bl 21091E
10% 3RO ¥ 559@
HHAT 39 4A T 10 T® 75 A
IR ‘ 40%
IR
() e fElm S W gfowe A @ (3R ¥ wER) it EPS
fuifa Hiftm |

(ii) ¥ HPER % I T AR fawit e R 2
(i) <Pt <Y TRETE Seite SR SR Iee ) AT IR |
(v) I foshl & 10% A 9fg At 2 A BBIT § whakla wfwa 6
TUHT SHIRTT |
(v) foshl & fom = ®, Fort A =@ 3@ (BBT) T F W
gt 2
AKN-H
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AKN-H
el et e fwfar 8 | e s W 98 T
TR (A Y TETd AT A& ] | SMIEBIE Feferad 1 T A
% HRVT JTATIG TR s f TR R
o Ufa HHTTRE! § e Riept anfifes A= 2 3,00,000 TH 2 |
e WS (stock) Y THEAT & HRVT IcqTeA <0 § Hft T 3,00,000 Y |
o 37T farshl # At T 2,50,000 i AU
o ¥ EHA W furfor & sRw 319 ¥ 2,00,000 ht
InfRpere gferie Y Jomrett T Y %1 SR e € 20,00,000 T
AT T Y AT T 1,00,000 | 5T T T 80% STAH T HiA b a9
% foran ST R wd TR A ST oY 8 R St | et < srgAta
Sfa 5 |1t @ 3 7 wief T vgfa % Srgan gt g |
FEft Tt woref S w=IfeTa e & T @ e fadws At srrawrehar
Bt Reeht afiieh A1 2 5,00,000 Sy =R v |

Marks
10

IR o Affer 4t A1t o fore e T@-TamE v gieem dara e Tera e

@R #)
4 5

T 1 2 3
-
it |

2,00,000 | 1,80,000 | 1,60,000 | 1,40,000 | 1,20,000

G- U YRS SFTd ARE < M | et S AR €T 30% & 3

$Th! TufEra gfeme I 15% B |

a9 1 2 3 4 5
PVIF( 10t 0.909 | 0.826 | 0.751 | 0.683 | 0.621
PVIF( 17 ¢ 0.893 | 0797 | 0.712 | 0.636 | 0.567
PVIF( 15 ¢ 0870 | 0.756 | 0658 | 0.572 | 0.497

S TAUH e 3R @ veran fowr gt Bt s # A g¢ giEs 65

To™ITh W |
AKN-H
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31 W€, 2022 %1 g9 9N & fore 7 fofiee @ gefRe e f=r wsr 10
?:

TS (AR &HAT T 3h1saT) 1,00,000

fosra e wfa 18 % 40

IREd-TT ArTa 9 $ehTs Z20

T} #rTa % 10,00,000

31 9T, 2022 %1 HPT 6 YSht T i g R

oo ufrzd

THAT 319 YSit (T 10 91 1,00,000 330 10,00,000

o 3R IRy 5,00,000

=eg 5,00,000

A : 20,00,000

U ferftrds 3 TSI W Teat 1 S o % fore ueh dhetta afEiem Y emg
A 1 Fofa T & Roret 2 20 @ fifea &7 | e searem o 50% 9fy
* fore smenf=ra 8 | wemft @0 2 5,00,000 @ wg STEh Fik wiEdH @
ST 618 15% & F9 1 et | srfeia Seared ot adae ke gea w o

foreft ferafia woma & aoR A fosra e s asaT 2 |
SrETfera Sertd e o femige % fere frafiRaa fasrea demmd & -
T T 9) ‘
fawea w1 | gEaden

1 5,00,000 Sy

2 10,00,000 5

3 14,00,000 S
A ST oo Wi AT 200 § |

AKN-H
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YT At 778 ot TR ST Y g T 'R A TR AR

ESUI L AR
¥ 5,00,000 T 10%
% 5,00,000 & 37fersh 3R T 10,00,000 Th 15%
% 10,00,000 & 3ftren 20%

ST T 40% WA §C EPS & dey # Iwferiga fereredt @ @ o1
fafiree & fo =61 @ fspew it wemg & 2 30 ifv |

qa;wmﬁmﬁwﬁ%

Marks

10

o 2100 YAH % G W 6 99 I IRuerIar e & 15% qRad-siia -

HRUTA | IR T T RO HAT & 2 THAT 9 uRafdd g
S | Sifem Wea wfowe i T 10% B, TWR Sifew fiftem 18% 2
FR Pt & offer 1,25 ® | R 9 2 12.76 S Fw e feam #
ute o TEe 369 % 10 Y 3T I AW R o | 9w 6
’mmq@ﬁs%%l

e T 100 ¥&F % 10% SHftmm | 5% fmm 31w | 3 3w 10 af =€
U W Afied g | SR St Y AT T qod <Al 6% B |

A e for samaTies et 40% 2 |

~ AKN-H
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() af~wen faf¥ *1 Iwm Fad gu IREdsie Hoe H qFE H T
iR |
(i) YTM fafr = Swm e gu lRmm st Y era st o hifdng |-
Year 1 2 3 4 5 6 7 8 9 10
PVIFj3; | 0971 | 0.943 | 0915 | 0.888 | 0.863 | 0.837 | 0.813 | 0.789 | 0.766 | 0.744
PVIFg s,  |0952 | 0907 | 0.864 | 0.823 | 0.784 | 0.746 | 0.711 | 0.677 | 0.645 | 0.614
PVIFA0_03t 0971 | 1.913 | 2.829 | 3.717 | 4.580 ([ 5.417 | 6.230 | 7.020 | 7.786 | 8.530
PVIFAO.OSt 0952 | 1.859 | 2.723 | 3.546 | 4.329 | 5.076 | 5.786 | 6.463 | 7.108 | 7.722
Interest rate 1% 2% 3% 4% 5% 6% 7% 8% 9%
FVIFi 5 1.051 1.104 1.159 1.217 1.276 | 1.338 | 1.403 1.469 1.539
1.062 1.126 1.194 1.265 1.340 | 1.419 | 1.501 1.587 1.677
FVIF, ¢
1.072 1.149 1.230 | 1.316 1.407 | 1.504 | 1.606 1.714 1.828
FVIF; 5
(a) AT T ST H HH1edl ) vg= | 4
(b) AT T i YOS ) §&Y F GHIT | 4
(c) Torefa waem & <wufe srftrearietor Jeewl & e wE i | 2

HIT |

YT
w3 feumeett WiEgi” ot “wiee e Wel S g e ey 2

AKN-H
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HAT-9

T G 7 ARER R |

A9 3t & ot o Al 3 s AR |
srivier feoafort 3T 3 s g =l |

(@) T ol o % fore fmaforfag geemt s &

T

fashi : 3,500
w37 400
arferm tEfea 300
YRR wfer 200

G T W 600
ol amar 200
T 3w d&ht 400
et i arfegfd 400

O] i ;

() T AR (GVAp)

(i) NDPyp

(iii) TReETER STfEy

(b) Tt s e % g wen & fdam Hifd |
() AT FreRo it # G B8 1 SNRIe Farsu |
(d) 5T (Money) % Tgfaadt 32w =1 aviq iR |

AKN-H
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(a)

(b)

(a)

®

(a)

(@

(ii)
®
(i)

®
(i)

(ii)

)
(ii)

(22)
AKN-H

k- toeita Hift o fEaef aoend fif § s
TS |

wfesr Yok % a1 7 foraR @ 7y |

“3T % IR a8 1 Ui HfY |

IS §oh GRI Toh TR T 500 ST 6 fore e e Fan
T ST Hehall & AfG SATavE IRFA 31U 0.04, 0.06 TH 0.10
ferTa 8 | hfee oreh Y o i |

AR ATeIITeh SRGAT T IETERT o T Fui IR |
THY W B ] 2
AT ht AT it o Hfvg, fea

T = 105
TET o1 AT = 4.2

1 IR = 4500 kv

ioTT foheT BT Afe A= it AT wEHt 240 BN R |
A8 T[T’ & IHTIehT 941 ATeqd & ? WY |

TR fifer % wmT= SReEl ) wany |

RBI g1 3a1¢ ¢ Frfefaa weai 6 @fgs Hifa & wepfa =0
gt

(A) g ARFHA SIITT B! HH HLET E |

(B) G SR A wfensyferat ot e R |

(C) 5099 NF< & [T ! TETAT R |

(D) Uz 3R foani i smmgfel A sgTan R |

AKN-H
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(b) () T=feriaa gumad i vema @ s @ ding s gk R 3
T HifST
mr | genen | oo
R 1600 2000
T 3T ~ 5000 6600
(i) e U Bzt e w5 fyeror i | 2

11. (@) () U risaen H Az Hiia afied & gro Feaffe i g 3

g:

Toramor THUS I
EEER R 2,42,09,645
Teh $9 1 forerent g 3,25,572
B ek = A 7,434
SThER | & Seh AT 14,17,868
ek EC i 9,75,635
SIFQT BT STHT 98T ‘ 1,77,61,992
&1 & wi S 1,73,76,925
R.B.I & 3= 91 3,85,074
Te A o I | 1,48,966
Sept § wrafyy s 17,86,969

. JATYH! TUATHE R (i) M1; T (ii) M2
(i) = o 3 Ay & g aem & o Hrgmm ;. 2
(A) TWHINATNT o IR AT |

(B) Covid-19 39T % M HATEH Y& |
AKN-H P.T.O.
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